Comprehensive example for all 4 regression models
Data

	id
	no_sz
	totaltime
	sz
	x

	1
	0
	1
	0
	1

	2
	1
	1
	1
	1

	3
	5
	5
	1
	0

	4
	1
	4
	0
	0


	id 
	event
	timetoevent
	x

	1
	0
	1
	1

	2
	1
	1
	1

	3
	1
	0.5
	0

	3
	1
	1.5
	0

	3
	1
	1.7
	0

	3
	1
	1.8
	0

	3
	1
	4.8
	0

	3
	0
	5
	0

	4
	1
	4
	0
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Notes:

      1.  (/v# option or -set maxvar-) 5000 maximum variables

. *(4 variables, 3 observations pasted into data editor)

. li

     +----------------------------+

     | id   no_sz   totalt~e   sz |

     |----------------------------|

  1. |  1       0          1    0 |

  2. |  2       1          1    1 |

  3. |  3       5          5    1 |

     +----------------------------+

. su no_sz

    Variable |       Obs        Mean    Std. Dev.       Min        Max

-------------+--------------------------------------------------------

       no_sz |         3           2    2.645751          0          5

. clear
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. *(4 variables, 3 observations pasted into data editor)

. li

     +----------------------------+

     | id   no_sz   totalt~e   sz |

     |----------------------------|

  1. |  1       0          1    0 |

  2. |  2       1          1    1 |

  3. |  3       5          5    1 |

     +----------------------------+

. 

. 

. 

. 

. 
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. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. tabstat no_sz,  stat(n neab sd median min max)

unknown statistic: neab

r(198);

. tabstat no_sz,  stat(n mean sd median min max)

    variable |         N      mean        sd       p50       min       max

-------------+------------------------------------------------------------

       no_sz |         3         2  2.645751         1         0         5

--------------------------------------------------------------------------
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. 
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. li

     +----------------------------+

     | id   no_sz   totalt~e   sz |

     |----------------------------|

  1. |  1       0          1    0 |

  2. |  2       1          1    1 |

  3. |  3       5          5    1 |

     +----------------------------+

. tabstat no_sz,  stat(n mean sd median min max)

    variable |         N      mean        sd       p50       min       max

-------------+------------------------------------------------------------

       no_sz |         3         2  2.645751         1         0         5

--------------------------------------------------------------------------

. generate var5 = 1 in 1

(2 missing values generated)

. replace var5 = 1 in 2

(1 real change made)

. replace var5 = 2 in 3

(1 real change made)

. rename var5 x

. li

     +--------------------------------+

     | id   no_sz   totalt~e   sz   x |

     |--------------------------------|

  1. |  1       0          1    0   1 |

  2. |  2       1          1    1   1 |

  3. |  3       5          5    1   2 |

     +--------------------------------+

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. regress no_sz x

      Source |       SS       df       MS              Number of obs =       3

-------------+------------------------------           F(  1,     1) =   27.00

       Model |        13.5     1        13.5           Prob > F      =  0.1210

    Residual |          .5     1          .5           R-squared     =  0.9643

-------------+------------------------------           Adj R-squared =  0.9286

       Total |          14     2           7           Root MSE      =  .70711

------------------------------------------------------------------------------

       no_sz |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |        4.5   .8660254     5.20   0.121    -6.503896     15.5039

       _cons |         -4   1.224745    -3.27   0.189    -19.56186    11.56186

------------------------------------------------------------------------------

. tabstat no_sz,  stat(n mean sd median min max) by(x)

Summary for variables: no_sz

     by categories of: x 

       x |         N      mean        sd       p50       min       max

---------+------------------------------------------------------------

       1 |         2        .5  .7071068        .5         0         1

       2 |         1         5         .         5         5         5

---------+------------------------------------------------------------

   Total |         3         2  2.645751         1         0         5

----------------------------------------------------------------------

. tabstat no_sz,  stat(n mean sd median min max) by(x)

Summary for variables: no_sz

     by categories of: x 

       x |         N      mean        sd       p50       min       max

---------+------------------------------------------------------------

       1 |         2        .5  .7071068        .5         0         1

       2 |         1         5         .         5         5         5

---------+------------------------------------------------------------

   Total |         3         2  2.645751         1         0         5

----------------------------------------------------------------------

. regress no_sz x

      Source |       SS       df       MS              Number of obs =       3

-------------+------------------------------           F(  1,     1) =   27.00

       Model |        13.5     1        13.5           Prob > F      =  0.1210

    Residual |          .5     1          .5           R-squared     =  0.9643

-------------+------------------------------           Adj R-squared =  0.9286

       Total |          14     2           7           Root MSE      =  .70711

------------------------------------------------------------------------------

       no_sz |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |        4.5   .8660254     5.20   0.121    -6.503896     15.5039

       _cons |         -4   1.224745    -3.27   0.189    -19.56186    11.56186

------------------------------------------------------------------------------

. li

     +--------------------------------+

     | id   no_sz   totalt~e   sz   x |

     |--------------------------------|

  1. |  1       0          1    0   1 |

  2. |  2       1          1    1   1 |

  3. |  3       5          5    1   2 |

     +--------------------------------+

. 

. 

. 

. 

. 

. 

. 

. tab sz x, chi2

           |           x

        sz |         1          2 |     Total

-----------+----------------------+----------

         0 |         1          0 |         1 

         1 |         1          1 |         2 

-----------+----------------------+----------

     Total |         2          1 |         3 

          Pearson chi2(1) =   0.7500   Pr = 0.386

. tab sz x, chi2 exact

           |           x

        sz |         1          2 |     Total

-----------+----------------------+----------

         0 |         1          0 |         1 

         1 |         1          1 |         2 

-----------+----------------------+----------

     Total |         2          1 |         3 

          Pearson chi2(1) =   0.7500   Pr = 0.386

           Fisher's exact =                 1.000

   1-sided Fisher's exact =                 0.667

. tab x  sz, row

+----------------+

| Key            |

|----------------|

|   frequency    |

| row percentage |

+----------------+

           |          sz

         x |         0          1 |     Total

-----------+----------------------+----------

         1 |         1          1 |         2 

           |     50.00      50.00 |    100.00 

-----------+----------------------+----------

         2 |         0          1 |         1 

           |      0.00     100.00 |    100.00 

-----------+----------------------+----------

     Total |         1          2 |         3 

           |     33.33      66.67 |    100.00 

. tab x  sz, col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

| column percentage |

+-------------------+

           |          sz

         x |         0          1 |     Total

-----------+----------------------+----------

         1 |         1          1 |         2 

           |    100.00      50.00 |     66.67 

-----------+----------------------+----------

         2 |         0          1 |         1 

           |      0.00      50.00 |     33.33 

-----------+----------------------+----------

     Total |         1          2 |         3 

           |    100.00     100.00 |    100.00 

. recode x   2=0

(x: 1 changes made)

. tab x  sz, col

+-------------------+

| Key               |

|-------------------|

|     frequency     |

| column percentage |

+-------------------+

           |          sz

         x |         0          1 |     Total

-----------+----------------------+----------

         0 |         0          1 |         1 

           |      0.00      50.00 |     33.33 

-----------+----------------------+----------

         1 |         1          1 |         2 

           |    100.00      50.00 |     66.67 

-----------+----------------------+----------

     Total |         1          2 |         3 

           |    100.00     100.00 |    100.00 

. prtest sz  x

too many variables specified

r(103);

. prtest sz , by (x)

insufficient observations

r(2001);

. logistic    sz      x

note: x != 1 predicts success perfectly

      x dropped and 1 obs not used

Logistic regression                               Number of obs   =          2

                                                  LR chi2(0)      =       0.00

                                                  Prob > chi2     =          .

Log likelihood = -1.3862944                       Pseudo R2       =     0.0000

------------------------------------------------------------------------------

          sz | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |          1  (omitted)

       _cons |          1   1.414214     0.00   1.000     .0625488    15.98751

------------------------------------------------------------------------------

. set obs 4

obs was 3, now 4

. replace id = 4 in 4

(1 real change made)

. replace no_sz = 2 in 4

(1 real change made)

. replace totaltime = 4 in 4

(1 real change made)

. replace sz = 0 in 4

(1 real change made)

. replace x = 0 in 4

(1 real change made)

. prtest sz , by (x)

Two-sample test of proportions                     0: Number of obs =        2

                                                   1: Number of obs =        2

------------------------------------------------------------------------------

    Variable |       Mean   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           0 |         .5   .3535534                     -.1929519    1.192952

           1 |         .5   .3535534                     -.1929519    1.192952

-------------+----------------------------------------------------------------

        diff |          0         .5                      -.979982     .979982

             |  under Ho:         .5     0.00   1.000

------------------------------------------------------------------------------

        diff = prop(0) - prop(1)                                  z =   0.0000

    Ho: diff = 0

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0

 Pr(Z < z) = 0.5000         Pr(|Z| < |z|) = 1.0000          Pr(Z > z) = 0.5000

. logistic    sz      x

Logistic regression                               Number of obs   =          4

                                                  LR chi2(1)      =       0.00

                                                  Prob > chi2     =     1.0000

Log likelihood = -2.7725887                       Pseudo R2       =     0.0000

------------------------------------------------------------------------------

          sz | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |          1          2     0.00   1.000     .0198425    50.39681

       _cons |          1   1.414214     0.00   1.000     .0625488    15.98751

------------------------------------------------------------------------------

. li

     +--------------------------------+

     | id   no_sz   totalt~e   sz   x |

     |--------------------------------|

  1. |  1       0          1    0   1 |

  2. |  2       1          1    1   1 |

  3. |  3       5          5    1   0 |

  4. |  4       2          4    0   0 |

     +--------------------------------+

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. 

. exactlogistic    sz      x

unrecognized command:  exactlogistic

r(199);

. exaclogistic    sz      x

unrecognized command:  exaclogistic

r(199);

. help exlogit

. lookup exact logistic

Keyword search

        Keywords:  exact logistic

          Search:  (1) Official help files, FAQs, Examples, SJs, and STBs

Search of official help files, FAQs, Examples, SJs, and STBs

[U]     Chapter 26  . . . . . . . . . .  Overview of Stata estimation commands

        (help estcom)

[R]     exlogistic  . . . . . . . . . . . . . . . .  Exact logistic regression

        (help exlogistic)

FAQ     . . . . . . . . . . . . . . .  What statistical analysis should I use?

        . . . . . . . . . . . . . . . . . .  UCLA Academic Technology Services

        5/08    http://www.ats.ucla.edu/stat/stata/whatstat/whatstat.htm

Example . . . . . . Textbook examples: An Introduction to Categorical Analysis

        . . . . . . . . . . . . . . . . . .  UCLA Academic Technology Services

        9/07    examples from the book An Introduction to

                Categorical Analysis by Alan Agresti

--Break--

r(1);

. exlogistic    sz      x

Enumerating sample-space combinations:

observation 1:   enumerations =          2

observation 2:   enumerations =          3

observation 3:   enumerations =          4

observation 4:   enumerations =          3

Exact logistic regression                        Number of obs =          4

                                                 Model score   =          0

                                                 Pr >= score   =     1.0000

---------------------------------------------------------------------------

          sz | Odds Ratio       Suff.  2*Pr(Suff.)     [95% Conf. Interval]

-------------+-------------------------------------------------------------

           x |          1           1      1.0000         .0064    156.2496

---------------------------------------------------------------------------

. binreg    sz      x, rd

Iteration 1:   deviance =  5.545177

Iteration 2:   deviance =  5.545177

Generalized linear models                          No. of obs      =         4

Optimization     : MQL Fisher scoring              Residual df     =         2

                   (IRLS EIM)                      Scale parameter =         1

Deviance         =  5.545177444                    (1/df) Deviance =  2.772589

Pearson          =            4                    (1/df) Pearson  =         2

Variance function: V(u) = u*(1-u)                  [Bernoulli]

Link function    : g(u) = u                        [Identity]

                                                   BIC             =  2.772589

------------------------------------------------------------------------------

             |                 EIM

          sz | Risk Diff.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |          0         .5     0.00   1.000     -.979982     .979982

       _cons |         .5   .3535534     1.41   0.157    -.1929519    1.192952

------------------------------------------------------------------------------

. binreg    sz      x, or

Iteration 1:   deviance =  5.545177

Iteration 2:   deviance =  5.545177

Generalized linear models                          No. of obs      =         4

Optimization     : MQL Fisher scoring              Residual df     =         2

                   (IRLS EIM)                      Scale parameter =         1

Deviance         =  5.545177444                    (1/df) Deviance =  2.772589

Pearson          =            4                    (1/df) Pearson  =         2

Variance function: V(u) = u*(1-u)                  [Bernoulli]

Link function    : g(u) = ln(u/(1-u))              [Logit]

                                                   BIC             =  2.772589

------------------------------------------------------------------------------

             |                 EIM

          sz | Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |          1          2     0.00   1.000     .0198425    50.39681

       _cons |          1   1.414214     0.00   1.000     .0625488    15.98751

------------------------------------------------------------------------------

. binreg    sz      x, rr

Iteration 1:   deviance =  7.665948

Iteration 2:   deviance =  5.594316

Iteration 3:   deviance =  5.545291

Iteration 4:   deviance =  5.545177

Iteration 5:   deviance =  5.545177

Generalized linear models                          No. of obs      =         4

Optimization     : MQL Fisher scoring              Residual df     =         2

                   (IRLS EIM)                      Scale parameter =         1

Deviance         =  5.545177444                    (1/df) Deviance =  2.772589

Pearson          =  4.000000001                    (1/df) Pearson  =         2

Variance function: V(u) = u*(1-u)                  [Bernoulli]

Link function    : g(u) = ln(u)                    [Log]

                                                   BIC             =  2.772589

------------------------------------------------------------------------------

             |                 EIM

          sz | Risk Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |          1    .999986     0.00   1.000     .1408674    7.098876

       _cons |         .5   .3535484    -0.98   0.327     .1250513     1.99918

------------------------------------------------------------------------------

. clear

. 

. 

. 

. 

. 

. 

. 

. *(5 variables, 4 observations pasted into data editor)

. poisson sz, exposure( totaltime)

Iteration 0:   log likelihood = -3.8000583  

Iteration 1:   log likelihood = -3.8000583  

Poisson regression                                Number of obs   =      

>     4

                                                  LR chi2(0)      =      

>  0.00

                                                  Prob > chi2     =      

>     .

Log likelihood = -3.8000583                       Pseudo R2       =     0

> .0000

-------------------------------------------------------------------------

> -----

          sz |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Inte

> rval]

-------------+-----------------------------------------------------------

> -----

       _cons |  -1.704748   .7071068    -2.41   0.016    -3.090652   -.31

> 88443

ln(totalt~e) |          1  (exposure)

-------------------------------------------------------------------------

> -----

. poisson sz, exposure( totaltime)

Iteration 0:   log likelihood = -3.8000583  

Iteration 1:   log likelihood = -3.8000583  

Poisson regression                                Number of obs   =          4

                                                  LR chi2(0)      =       0.00

                                                  Prob > chi2     =          .

Log likelihood = -3.8000583                       Pseudo R2       =     0.0000

------------------------------------------------------------------------------

          sz |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

       _cons |  -1.704748   .7071068    -2.41   0.016    -3.090652   -.3188443

ln(totalt~e) |          1  (exposure)

------------------------------------------------------------------------------

. 

. 

. 

. 

. 

. 

. 

. 

. poisson sz x, exposure( totaltime)

Iteration 0:   log likelihood = -3.2809338  

Iteration 1:   log likelihood = -3.2809338  

Poisson regression                                Number of obs   =          4

                                                  LR chi2(1)      =       1.04

                                                  Prob > chi2     =     0.3082

Log likelihood = -3.2809338                       Pseudo R2       =     0.1366

------------------------------------------------------------------------------

          sz |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |   1.504077   1.414214     1.06   0.288     -1.26773    4.275885

       _cons |  -2.197225          1    -2.20   0.028    -4.157189   -.2372606

ln(totalt~e) |          1  (exposure)

------------------------------------------------------------------------------

. 

. 

. 

. 

. 

. 

. 

. poisson sz x, exposure( totaltime) eform

option eform not allowed

r(198);

. poisson sz x, exposure( totaltime) ef

option ef not allowed

r(198);

. help poisson

. poisson sz x, exposure( totaltime) irr

Iteration 0:   log likelihood = -3.2809338  

Iteration 1:   log likelihood = -3.2809338  

Poisson regression                                Number of obs   =          4

                                                  LR chi2(1)      =       1.04

                                                  Prob > chi2     =     0.3082

Log likelihood = -3.2809338                       Pseudo R2       =     0.1366

------------------------------------------------------------------------------

          sz |        IRR   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |        4.5   6.363961     1.06   0.288     .2814698    71.94378

       _cons |   .1111111   .1111111    -2.20   0.028     .0156515    .7887857

ln(totalt~e) |          1  (exposure)

------------------------------------------------------------------------------

. 

. 

. 

. 

. 

. 

. poisson sz x, exposure( totaltime)

Iteration 0:   log likelihood = -3.2809338  

Iteration 1:   log likelihood = -3.2809338  

Poisson regression                                Number of obs   =          4

                                                  LR chi2(1)      =       1.04

                                                  Prob > chi2     =     0.3082

Log likelihood = -3.2809338                       Pseudo R2       =     0.1366

------------------------------------------------------------------------------

          sz |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |   1.504077   1.414214     1.06   0.288     -1.26773    4.275885

       _cons |  -2.197225          1    -2.20   0.028    -4.157189   -.2372606

ln(totalt~e) |          1  (exposure)

------------------------------------------------------------------------------

. di   exp(1.504077 )

4.4999982

. clear

. *(3 variables, 8 observations pasted into data editor)

. li

     +-----------------------+

     | id   event   timeto~t |

     |-----------------------|

  1. |  1       0          1 |

  2. |  2       1          1 |

  3. |  3       1         .5 |

  4. |  3       1        1.5 |

  5. |  3       1        1.7 |

     |-----------------------|

  6. |  3       1        1.8 |

  7. |  3       1        4.8 |

  8. |  3       0          5 |

     +-----------------------+

. 

. 

. 

. 

. 

. 

. 

. 

. generate var4 = 0 in 1

(7 missing values generated)

. replace var4 = 1 in 1

(1 real change made)

. replace var4 = 1 in 2

(1 real change made)

. replace var4 = 0 in 3

(1 real change made)

. replace var4 = 0 in 4

(1 real change made)

. replace var4 = 0 in 5

(1 real change made)

. replace var4 = 0 in 6

(1 real change made)

. replace var4 = 0 in 7

(1 real change made)

. replace var4 = 0 in 8

(1 real change made)

. set obs 9

obs was 8, now 9

. replace var4 = 0 in 9

(1 real change made)

. replace timetoevent = 4 in 9

(1 real change made)

. replace event = 1 in 9

(1 real change made)

. replace id = 4 in 9

(1 real change made)

. rename var4 x

. li

     +---------------------------+

     | id   event   timeto~t   x |

     |---------------------------|

  1. |  1       0          1   1 |

  2. |  2       1          1   1 |

  3. |  3       1         .5   0 |

  4. |  3       1        1.5   0 |

  5. |  3       1        1.7   0 |

     |---------------------------|

  6. |  3       1        1.8   0 |

  7. |  3       1        4.8   0 |

  8. |  3       0          5   0 |

  9. |  4       1          4   0 |

     +---------------------------+

. 

. 

. 

. 

. 

. 

. 

. 

. stset  timetoevent, failure(event)

     failure event:  event != 0 & event < .

obs. time interval:  (0, timetoevent]

 exit on or before:  failure

----------------------------------------------------------------------------

> --

        9  total obs.

        0  exclusions

----------------------------------------------------------------------------

> --

        9  obs. remaining, representing

        7  failures in single record/single failure data

     21.3  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =         5

. li

     +--------------------------------------------------------+

     | id   event   timeto~t   x   _st   _d          _t   _t0 |

     |--------------------------------------------------------|

  1. |  1       0          1   1     1    0           1     0 |

  2. |  2       1          1   1     1    1           1     0 |

  3. |  3       1         .5   0     1    1          .5     0 |

  4. |  3       1        1.5   0     1    1         1.5     0 |

  5. |  3       1        1.7   0     1    1         1.7     0 |

     |--------------------------------------------------------|

  6. |  3       1        1.8   0     1    1         1.8     0 |

  7. |  3       1        4.8   0     1    1   4.8000002     0 |

  8. |  3       0          5   0     1    0           5     0 |

  9. |  4       1          4   0     1    1           4     0 |

     +--------------------------------------------------------+

. sts list

         failure _d:  event

   analysis time _t:  timetoevent

           Beg.          Net            Survivor      Std.

  Time    Total   Fail   Lost           Function     Error     [95% Conf. In

> t.]

----------------------------------------------------------------------------

> ---

    .5        9      1      0             0.8889    0.1048     0.4330    0.9

> 836

     1        8      1      1             0.7778    0.1386     0.3648    0.9

> 393

   1.5        6      1      0             0.6481    0.1653     0.2532    0.8

> 721

   1.7        5      1      0             0.5185    0.1759     0.1641    0.7

> 877

   1.8        4      1      0             0.3889    0.1732     0.0925    0.6

> 875

     4        3      1      0             0.2593    0.1566     0.0389    0.5

> 704

   4.8        2      1      0             0.1296    0.1206     0.0068    0.4

> 330

     5        1      0      1             0.1296    0.1206     0.0068    0.4

> 330

----------------------------------------------------------------------------

> ---

. sts list, at(2)

         failure _d:  event

   analysis time _t:  timetoevent

              Beg.                      Survivor      Std.

    Time     Total     Fail             Function     Error     [95% Conf. In

> t.]

----------------------------------------------------------------------------

> ---

       0         0        0              1.0000         .          .        

>  .

       4         3        6              0.2593    0.1566     0.0389    0.57

> 04

       8         1        1                   .         .          .        

>  .

----------------------------------------------------------------------------

> ---

Note:  survivor function is calculated over full data and evaluated at

       indicated times; it is not calculated from aggregates shown at left.

. stci

         failure _d:  event

   analysis time _t:  timetoevent

             |    no. of 

             |  subjects         50%     Std. Err.     [95% Conf. Interval]

-------------+-------------------------------------------------------------

       total |         9         1.8      .2004459           .5        4.8

. sts g

         failure _d:  event

   analysis time _t:  timetoevent

. sts g, by(x)

         failure _d:  event

   analysis time _t:  timetoevent

. logrank x

by() required

r(198);

. help logrank

. help logrank

. sts test x

         failure _d:  event

   analysis time _t:  timetoevent

Log-rank test for equality of survivor functions

      |   Events         Events

x     |  observed       expected

------+-------------------------

0     |         6           6.53

1     |         1           0.47

------+-------------------------

Total |         7           7.00

            chi2(1) =       0.77

            Pr>chi2 =     0.3793

. 

. 

. 

. 

. 

. xtcox x

unrecognized command:  xtcox

r(199);

. xtscox x

unrecognized command:  xtscox

r(199);

. stcox x

         failure _d:  event

   analysis time _t:  timetoevent

Iteration 0:   log likelihood = -10.855917

Iteration 1:   log likelihood = -10.549787

Iteration 2:   log likelihood = -10.529016

Iteration 3:   log likelihood = -10.529012

Refining estimates:

Iteration 0:   log likelihood = -10.529012

Cox regression -- no ties

No. of subjects =            9                     Number of obs   =        

>  9

No. of failures =            7

Time at risk    =  21.30000019

                                                   LR chi2(1)      =      0.

> 65

Log likelihood  =   -10.529012                     Prob > chi2     =    0.41

> 88

----------------------------------------------------------------------------

> --

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interva

> l]

-------------+--------------------------------------------------------------

> --

           x |    3.24037   4.585979     0.83   0.406     .2022646     51.91

> 22

----------------------------------------------------------------------------

> --

. 

. stcox x

         failure _d:  event

   analysis time _t:  timetoevent

Iteration 0:   log likelihood = -10.855917

Iteration 1:   log likelihood = -10.549787

Iteration 2:   log likelihood = -10.529016

Iteration 3:   log likelihood = -10.529012

Refining estimates:

Iteration 0:   log likelihood = -10.529012

Cox regression -- no ties

No. of subjects =            9                     Number of obs   =         9

No. of failures =            7

Time at risk    =  21.30000019

                                                   LR chi2(1)      =      0.65

Log likelihood  =   -10.529012                     Prob > chi2     =    0.4188

------------------------------------------------------------------------------

          _t | Haz. Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

           x |    3.24037   4.585979     0.83   0.406     .2022646     51.9122

------------------------------------------------------------------------------

.
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. Stset for multiple event 

. stset  timetoevent, id(id) failure(event)

                id:  id

     failure event:  event != 0 & event < .

obs. time interval:  (timetoevent[_n-1], timetoevent]

 exit on or before:  failure

------------------------------------------------------------------------------

        9  total obs.

        5  obs. begin on or after (first) failure

------------------------------------------------------------------------------

        4  obs. remaining, representing

        4  subjects

        3  failures in single failure-per-subject data

      6.5  total analysis time at risk, at risk from t =         0

                             earliest observed entry t =         0

                                  last observed exit t =         4

. 

. 

. 

. 

